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U3 L3 System Word Problems /

For each problem, identify your variables (define), set up a system of equations (2 equations, 2
variables), and then solve the system. State your answer in terms of the problem.

Example:
The sum of two numbers is 92. Their difference is 20. Find the two numbers.
(az-v)-y=20
g2 -2y=20

x = first number

y = second number

x+y=92'%>('—‘-'c(7,' —27/: i
{.x—y=20 7/ xy ::2)(0 _
K= A2~ 3o
K X = C';’(OS
L. The difference of two numbers is 16. The greater number is 5 less than 4 times the smaller

number. Find the two numbers.
X = Hst nwenloex™ (‘\arger')
Y::scaormirnHTWDer(SW\aHef)

X = \/ B HP {
= -5 , i
X = v ~ (%\;—\%‘)‘-.— .\_/:;E\(a
= (+)-S 2y -1S =\
X=28-5 BV =2
|x=232 =)
2% A 100-foot cable is cut into two pieces. The first piece is 18 feet longer than the second. How
long is each piece of cable?
X =fred- Diecc oo=(y+1B)+ v
V= second piece 0O= 2y + 18
100 =X+ Y e
X =+ Ficek plece is |
¥ =5 :% . and %f:.f:.,ot""d

piece 1S 4 ~,

B




3.

5.

A
Three apples and four bananas cost $4.85. Three apples and ten bananas cost $8.75. Find the
cost of an apple.

—\5q+qkmm+@5>’% - 2d- o= -4.85
A+ 10b =8 7345 —+ a + 10 = &.F+>

bo=23a
o =0.0%

Ha+4(0.6%)= 4. 65
Aa+ 2. =4 D5

2a=2.25 F\DPMS‘;’%‘E’DCF

aA=03> Lananas= eSS4

The Rocket Coaster has 15 cars, some that hold 4 people and some that hold 6 people. There is
room for 72 people altogether. How many 4-passenger cars are there? How many 6-passenger
cars are there?

£ = -Foutr‘-PGkSSU’\CjCV’ ca
S = SIX - passen 3&4”0&(“

U+ (o5 =7F2 %L_/Zl+(pgr'}2

~H(F+S=19) T A -ds=-00
25=127
f+l=1% 5=
=9 q four- P assen er” oS
| (o SiX- Pasgmger O S

Tickets for the Valentine Dance cost $3 per person or $5 per couple. If $475 worth of tickets
were sold and 180 people attended the dance, how many couples were there?

= PEXSOM
i=£m4ﬂ¢ 5 (1B0-20)+SC= 43S
SUD ~ e +Sc = 4F5S

?bp—r%céuﬁ-“p SUO - C =4S
P—\'ZC/s\E)O ' —C = -5
\Ap=wao—2; cTes

SO simgkﬁ paﬂp\&

=\80 - 2(L5
v ( ) (o= COUPICS

D =20
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6. Pi High School ordered 40 science books. The next week, the school ordered 30 algebra books.

The bill for the first order was $360 greater than the bill for the second order. The two bills
together totaled $3960. Find the price of an algebra book. b

U0 S + 20a = 59 O
2405 = 30a -+ 3O
\y qo@ﬂ a+ Q)+ 20a = 390
=7 %O‘»“'c‘ 200+ 3O+ 300 = ZLS
2,0 +L0a=296C
(0O = 20O

Al gelora oL = Lo
\ A Seice = # 0
7. Dante has 27 coins that are all dimes and quarters. The value of the coins is $4.35. How many

dimes and how rnany quarters does Dante have?

b %’L“ - 2% -4
d".:'- lmc % /

25 - oz%%+0loc° =
S = O, 25(23-)+© od
U 3S = L FS - ngcﬁ—\-O.LOd H%/La(‘{-@"S
<l ol
Lk BT Tilp. = — .\ o dimes
—u0= —o.\od | ‘
o =4
8. The larger of two numbers is 11 more than twice the smaller number. The sum of the numbers is
1 less than seven times the smaller number. Find the numbers.
= |laraex

N = Snyaal e X+Y= B

: _ X = vy —| = 2(3 )+ i
%X—Z\/—Hﬁ/ / i*b(-%)it
= oy - -
- i X = |

2N+t = oy - e
—Hy A+ =
\Numbe,rs oxe Uy =~
| \F ol 3 | y=3




9. A geometry teacher has a set of 60 plastic pentagons and octégons. She happened to notice that
all the figures together have a total of 354 sides (she had lots of spare time to count). How many
of each shape are there?

P—%—C‘:(OQ '%P:(OO“-C,
Sp+ BC =354
S(o-)+ac =354 P:(OO”\EB
200-DC +BC = 3SY pP=Z

200+3C =354
3C =54 B Pc.r‘n-’rq_;‘jomf?a \
C =18 ancd \& 'D(_,J\‘O\ﬂ{f?r\g

10. A group of Mayfield students goes out to lunch. If two have burritos and five have tacos, the bill
will be $19.50. If five have burritos and two have tacos, the bill will be $22.50. Find the price

of a taco and the price of a bg{rrito' TLQC/Q LS 3 290 OLVL\CQ
t=raco | burrito s #2530
b = ouCeo . - \
~5{2lo + S = 14.50) ~ 1 — 25k = - AFSO
2B+ 26=2250) 4] )Ob + Uk = uS
26 +3(22)=1a 50 "7—‘*:;5@5@
2l64+12.9=19,50 - ©=25
2lo=F
o=32 . .
11.  Three lemon cookies plus two fudge cookies have 400 calories. Two lemon cookies plus three
fudge cookies have 425 calories. How many calories are in each kind of cookie?
L =lemonm
& —R,Ldﬂ <
-2 {>L~+ 2F = 1oO) PR —4£ = -80O
2L+ =42D) T T4 YL +ak =123
= ¥
2L+ 2(a%)=yo0 %ﬁ ) :%5
2L +1q0 = 40O
L= 210 Fud?ge_, cookies are 9%
L=10 calories and lenom

CooiesS are FO caloriesS



12.  In Lewis Carroll’s Through the Looking Glass, Tweedledum says, “The sum of your weight and
twice mine is 361 pounds.” Then Tweedledee says, “The sum of your weight and twice mine is
362 pounds.” Find the weights of Tweedledum and Tweedledee.

¥ = A Tweediecdunr (& |20 lbs.
= dec Tweectiedee. s (21 (bs,

y+2x:%@l_”
)<+2_\/-; ‘:')Lal'%x-:‘bkpz—Z\/

v+ 2(2e2-2y) = 30|

Y - Uy = 36| |2+ 23 = 36l
F24 -3y = Dl 2% = 240
— 5y = -303 X= 120
Y =12
13. The difference of two numbers is 15. Five times the smaller number is the same as 9 less than

twice the larger number. Find the numbers.

« = Frst numbbeyr (largye)
\/ =5 e conad Nnunnloe (fpwﬂ o\ r“‘“)

K—Y1F5~A?xzva*y

Sy = 22X -

SN = 2(15+v) -9

Sy =30 + 2y -4 §—F =
DN =2\ Ly \;(: 272\
2N = 2\ .

==







